
SPARE PART

GUIDE



2

A B C D E F G H I J
1 2 3 4 5 6 7 8 9 0

JUNKKARI SPARE PARTS

This guide contains a collection of best-selling spare parts and spare parts kits to help you 
choose the right spare parts.

Junkkari’s spare parts warranty applies to trailers, chippers, combi seed drills and forest 
loaders and trailers manufactured within the last 10 years.

It does not cover products for which the manufacturing rights have been sold on. Such 
products include for example sprayers and acid applicators. 

Junkkari continues to produce spare parts for the most popular machines even after the 
expiry of the spare parts guarantee period. 

Please contact us if you need help fi nding the right spare parts. 
Our contact details can be found on the back cover. We are happy to help!

Marking of the production year
The marking of the production year changed in 1989. Prior to this date, the the year of pro-
duction did not have to be indicated by a number. Therefore, on older Junkkari machines, 
the year of the production is indicated by a combination of letters, which can be converted 
into a year number according to the following table:

e.g. Year modell HA:
 H=8 ja A=1 --> 81, year modell is 1981

 Year modell HJ:
 H=8 ja J=0 --> 80, year modell is 1980

_______________________________________________________________________________

© Junkkari 2024. We reserve all rights to code, product and price changes without notice.



3

3000 T/ST, 4000 T/ST
- produced between 1992 and 2014
- ST model has a bigger hopper and wheels
- with rear wheels
-tarpaulin cover in the hopper from 1998

MAESTRO
Manufactured 2005-2009
- coulter disc with smaller bearing
- smaller drawbar
- a smaller hopper
- Simulta roller on the fertilizer 
side
- gearbox on the seed side

S M T D  
Manufactured since 2015 
- S-model for cultivated soil, Simulta-style coulter
- M-model for lightly cultivated soil, Maestro-style coulter
- T-model for lightly cultivated soil and direct seeding. Maestro style 
coulter, but sharper.
- D-model for direct sowing, Maestro Direct-style coulter

W600 ja W700
Manufactured since 2017 alkaen
- 6 or 7 meter wide mechanical seeder
- feeding mechanism same as in SMTD models
- double disc coulter
- suitable for cultivated and lightly cultivated soils

MAESTRO PLUS
Manufactured 2010-2014
- coulter disc with bigger bearing
- stronger drawbar
- larger hopper
- gearbox on the seed and fertilizer 
side

2500NL and 2500 KH
- with an aluminum cover from 1987
- NL and KH models are still in produc-
tion 
NL= mounted
KH= light trailed with trailer wheels
H= trailed with big wheels

MAESTRO DIRECT
Manufactured 2010-2014
- direct seeding machine with 
heavy coulters
- otherwise similar machine as 
Maestro Plus



4

128810   Seed coulter front
   suitable from year 1987 onwards.

128820   Seed coulter rear
   suitable from year 1987 onwards.

12881   Coulter arm front
   suitable from year 2004 onwards. 
   Older models also require V15157 scraper 
   and V14868 rear scraper.

12882   Coulter arm rear
   suitable from year 2004 onwards. 
   Older models also require V16214 scraper 
   and V14868 rear scraper.

V15157  Simulta front coulter scraper with bolt fastening
   To coulter 128810, since 2004.

V16214  Simulta rear coulter scraper with bolt fastening   
   To coulter 128820 since 2004.

   Fastening parts:
   1 pc Bolt M10x55 8.8 A07780
   1 pc. Bolt M10x75 8.8 A0A2F1514 
   2 pc. Spring washer M10 B5A0H2214 
   1 pc. Bracket 137287

D18253   Dust cover

   Fastening parts:
   1 pc Bolt M10x55 8.8 A07780
   1 pc Bolt M10x75 8.8 A0A2F1514 
   2 pc Spring washer M10 B5A0H2214
   1 pc Bracket 137287

D18253   Dust cover

   Fastening parts:
   2 pcs Bolt M6x12 8.8 A060C1024
   2 pcs Washer M6 B560N1524 

   Fastening parts:
   2 pcs Bolt M6x12 8.8 A060C1024
   2 pcs Washer M6 B560N1524 



5

V14868   Rear scraper
   For coulter 128810 and 128820 from 2004.

   Fastening parts:
   2 pcs Washer M6 B560N1524
   2 pcs Locking screw M6x16 A01970
   2 pcs Locking screw M6 A50451

Fastener for seed coulter 
Fits 1987 and newer Simulta models.

Support bolt

Nut M8 Nyloc 985 Zn

Dust cup

Plastic bearing for seed coulters
need 2 pcs/coulter.

Fastening parts:
2 pcs Bolt M6x40 8.8 A061A1524
2 pcs Lock nut M6 A50451

D40048157

Simulta seed coulter tension spring 
4x32x155 mm.

Chain link
Link for seed coulter. Suitable for all simulta models

Drawplate for front coulter
Length 38 cm.
Suitable for all Simultas since 1987.

Drawplate for rear coulter
Length 3.6 cm Suitable for all Simultas since
1987.

D14818500

137292

12783

12013

Simulta seed coulter disc
includes bearings. Fits model year 1983 and newer.
Order also dust cup

V161412

Bearing kit for seed disc
From model year 87 onwards. 
Also fi ts the rov marker disc, if with ball bearings.

V161413

CT3406500

D15816

A50711

131324000



6

143600 Fertilizer coulter rear  
Fits Simulta NL, KH, T and ST models from 1987 onwards.

Spring for didc fertilizer coulterD30000486

Disc coulter bracket14354

Motion limiter  
Prevents the coulter from moving forward after a collision.
Saves springs on stony fi elds.

14967

Dust cover for Simulta and Maestro
The older prickly hedge can be replaced by this one. 
Stays in place better and prevents soil from drifting in to 
block the rim tube. 

D18253

Fertilizer coulter front
fi ts Simulta NL, KH, T and ST models since 1987.
1 pc. 14354 Fastener
1 pc. 14967 Motion limiter
1 pc. A12820 Bolt M16x70 10.9
1 pc. B5G102524 Washer
1 pc. AGG113014 Nut M16

1 pc. 14354 Fastener
1 pc. 14967 Motion limiter
1 pc. A12820 Bolt M16x70 10.9
1 pc. B5G102524 Washer
1 pc. AGG113014 Nut M16

143620 

13697

V16187

V16189

E34471

Bearing set for fertilizer coulter. 
Also suitable for monolink/multilink coulter.

Monolink scraper, front
2 pcs Bolt A0A0L1514
2 pcs Rubber washer 14987

Monolink scraper rear
2 pcs Bolt A0A0L1514 
2 pcs Rubber washer 14987

Spring for Monolink/Multilink coulter

Fastening parts:
(to be ordered 
separately)

Fastening parts:
(to be ordered 
separately)

Fastening parts:
(to be ordered 
separately)

Fastening parts:
(to be ordered 
separately)



7

Simulta fertilizer coulter
Fits from model year 1987 onwards.

137251

Fertilizer coulter spring for coulter JU137251D30000481

Tube to fertilizer coulter 137251

Bracket for coulter 137251

137252

Tip piece for fertilizer coulter 137251, 
replaces tip 137265.

13101

137249

1 pc. 137249 Fastener
1 pc. A0C2A1514 Bolt M12x70 8.8 
1 pc. JUB5C0M2514 Washer
1 pc. AGC111014 Lock nut M12

1 pc. A0A151014 Bolt M10x35 8.8 
1 pc. B5A0MB024 Washer
1 pc. AGA113014 Nut M10

1 pc A0C151514 Bolt M12x35 8.8 
1 pc AGC113014 Lock nut M12

Machine and chain tensioner spring for Simulta
Length 155 mm, thread 4 mm.

D14110

Simulta ST’s primary chain, from 2002 onwards
Includes connecting link.  
Order also new tensioners 137970 at the same time.

153812

Simulta T and ST models primary chain tensioner
Order also chain 137781 or 153812 at the same time

137970

Fastening parts:
(to be ordered 
separately)

Fastening parts:
(to be ordered 
separately)

Fastening parts:
(to be ordered 
separately)



8

Simulta bottom fl ap 
Includes: bottom fl ap, counter piece, spring, bolt and nut.

20612

Simulta’s harrow  tine 8mm 
In newer models, a thicker spike 15182.

D30000140

Maestro, T- and ST-models harrow tine 10 mm
Check the strength of the spike! 
Older ones have a thinner spike D30000140.

15182

Tramline clutch
6-sided shaft.
For model year 2012 and older, with a white connector.

year 2013 and newer

D40538

Traction clutch 
Saves traction chain on the road Suitable for models where the drive wheel 
can be removed with a bolt. Year model 2002 and newer. 
If you don’t already have a traction clutch, you will also need limiter 
JU16271.

16250

22963

Simultan T primary chain. Also in ST until 2001.
Includes connecting link. 
Order also new tensioners 137970 at the same time.

137781

Speed/lift sensor
Measure the speed and area, lift and descent of the
machine.

S/Z782-006

Hopper sensor 
for Simulta, Maestro and SMD
machines.

S/F713-009



9

Linak
Electric cylinder for remote control of
fertilizer.

D40600

Circuit board
Wizard machines.
year 2002-2013. White junction box

Circuit board
Wizard Plus for machines with remote fertilizer
control. year 2002-2014. White junction box. 

G-Wizard display
Simulta and Maestro. Wizard and Wizard plus can be 
upgraded to the new G-Wizard screen, which is better and 
easier to use. Includes installation instructions and resis-
tors for the machine’s circuit board

7x12 wheel right
Valve on the right

7x12 wheel left
Valve on the left

S/A 341-001

S/A 306-004

31770

147080

16535



10

The front feed tube of seed coulters for Simulta

Rear feed tube of seed coulters to Simulta

137426

137421

Simulta complete feed roll
Also suitable for the small seed device and the
Maestro 2005-2009 fertilizer side.

Funnel to seed, front

Funnel to the seed, rear

V16570

Fertilizer tube to Simulta
seed coulter rear feed pipe

137421

D31100000

D31200000

Fertilizer funnel
Also suitable as a funnel for a small seed box

D30119

2 pcs 13412 fastening wireFastening parts:
(to be ordered 
separately)



11

Fertilizer coulter set
For models 2500 
Complete set of 10 S-tip fertilizer coulters. Also includes 
fasteners and dust covers. Fits model year 1987 and 
newer

For models 3000 (12 pcs)

For models 3000 (6+6 pcs)

For models 3000 (6+6 pcs)

For models 3000

For models 3000
For models 4000

For models 4000 (16 pcs)

For models 4000 (8+8 pcs) 

For models 4000 (8+8 pcs)

For models 4000

Fertilizer disc coulter set 
For models 2500 
Complete set of 5+5 fertilizer coulters. Also includes faste-
ners, movement limiters and dust covers. Fits model year 
1987 and newer

Seed coulter set  
For model 2500
A complete set of 10+10 coulters Includes coulters and 
soil protectors.
Fits model year 1987 and newer

Scraper set for seed coulters  
For models 2500 
Includes scrapers with mounting parts. 
Suitable from model year 2004 onwards.

Repair kit  for fertilizer axle 
2500 for models 
A complete repair kit for the fertilizer feed.. Includes feed 
shaft.
Fits model year 1987 and newer

VS25001

VS30002

VS30005

VS30008

VS30026

VS40003

VS40006

VS40009

VS40027

VS25004

VS25007

VS25021

VS30025
VS40026

VS25020

SPARE PART KITS FOR SIMULTA



12

For models 3000 T/ST (24 pcs)

For models 3000  (12 pcs)

For models 4000 T/ST  (32 pcs)

For models 4000  (16 pcs)

Kiekkosarja siemenvantaisiin Simulta 
For models 2500 
A complete set of 20 discs with bearings. 
Fits model year 1987 and newer

Syöttörullasarja lannoitepuolelle Simulta 
For models 2500. Complete set of 10 fertilizer rollers. Also 
suitable for the seed side, when two sets are needed.

VS30017

VS30020

VS40018

VS40021

VS25016

VS25019



13

Tramline clutch 2005-2012 
Round shaft. For model year 2012 and older with a white connector

D17967

Coulter tube front 2005-2014
Fits Maestro and Maestro Plus models.

Coulter tube front, carbide tip, year 2005-2014
Fits Maestro and Maestro Plus models.

Coulter tube rear, carbide tip, year 2005-2014
Fits Maestro and Maestro Plus models.

17523

36170

36173

Bearing mounted coulter disc for Maestro years 2005-2019
Includes disc, bearings and seal. 
The diameter of the coulter shaft is 25mm.  Replaces code 17245. 

V20624

Maestro Plus/M coulter disc  2010-2014
Includes disc, bearings and seal.

V20670

Maestro’s  coulter springE34816

Pre-tensioning spring
replace spring D14105.

22674

17541 Coulter tube rear. 2005-2014
Fits Maestro and Maestro Plus models.
18-24 pcs E63881 Disc spring
3 pcs AGA113014 Lock nut M10 
2 pcs D18253 Dust cover

18-24 pcs E63881 Disc spring
3 pcs AGA113014 Lock nut M10 
2 pcs D18253 Soil protection

18-24 pcs E63881 Disc spring
3 pcs AGA113014 Lock nut M10 
2 pcs D18253 dust cover

18-24 pcs E63881 Disc spring
3 pcs AGA113014 Lock nut M10 
2 pcs D18253 Duts cover

Fastening parts:
(to be ordered 
separately

Also order:

Also order:

22964

21108 dust cup 

21095 Dust cup

years 2013-2014

Fastening parts:
(to be ordered 
separately)

Fastening parts:
(to be ordered 
separately)

Fastening parts:
(to be ordered 
separately)



14

Maestro fertilizer tube
Length 750mm. 
Youcan make all the tubes by shortening this, excluding 
the tubes of the small seed box

18050

Complete seed roller for SMD/Maestro 
feed roller JU17974 is also required for the tramline clutch.

V16580

Wheel 7,5 x 16
Fits Maestro and Simulta ST, from 2002 onwards.

D18355

Wheel hub + axle
Includes hub, shaft, bearings and seals. 
Suitable for all Maestro and Maestro Plus models.

20617

Maestro reaction bar with fork, new model.
Attention! Diameter 20 mm! 
Fits all models by enlarging the hole in the wheel arm.

18815

Fertilizer funnel Maestro vm 2005-2009

Fertilizer roller 

Secondary feed roller for tramline clutch

Feed roller bearing (need 2pcs)

 Fertilizer roller for tramline clutch 
Bottom flap for seed 
Bottom flap for fertilizer

Funnel straight

Funnel right

Funnel left

D30119

18518

17974

D17110

20873
20793
21249

D17111

D18095

33265

5 pcs A0E151514 Bolt M14x35 8.8 
4 pcs AGE113014 Nut M14

2 pcs D903d208g Nut M20x1.5 
2 pcs 17522 Locking plate 
2 pcs B5L173024 Washer M20

1 piece JUB5L173024 washer M20 
2 pcs JU18812 Reaction rod pin 
1 pc JUagg113014 Nut M16 
1 piece JUBA81F0004 pin 8x45

Feeder hatch 
Applicability Maestro and Maestro
Plus, as well as SMD for all models.

20792

Kiinnitysosat:
(tilattava erikseen)

Fastening parts:
(to be ordered 
separately)

Fastening parts:
(to be ordered 
separately)



15

Plate for wheels
Suitable for Maestro flywheels. Also includes bearings.

18553

Speed/lift sensor
Measure the machine’s speed, surface area, lifting and 
lowering of the machine. 
Suitable for Maestros 2005-2009 and Maestro Plus vm. 
2010-2014. 
Also for Isobus controllers.

S/Z782-006

Hopper sensor
For Simulta, Maestro and SMD machines. 
Suitable for Maestros etc. 2005-2009 and 
Maestro Plus vm. 2010-2014. 
Also for Isobus controllers.

S/F713-009

1 pc. 17340 Pin  
1 pc A081S1014 Bolt M8x55 
1 pc AG8113014 Nut M8

Fastening parts:
(to be ordered 
separately)



16

Maestro 3000 coulter tube set 12+12 pcs
Includes disc springs 500 pcs 
Year models 2005-2014

Maestro 3000 coulter tube set 12+12 pcs with carbide tip NEW MODEL
Includes disc springs 500
pcs Year models 2005-2014

Maestro 4000 coulter tube set 16+16 pcs
Includes disc springs 500 pcs 
Year models 2005-2014

Maestro 4000 coulter tube set 16+16 pcs with carbide tip NEW MODEL
Includes disc springs 500 pcs 
Year models 2005-2014

VS30010

VS30011

VS40011

VS40012

SPARE PART KITS FOR MAESTRO

Maestro 3000 disc set 24 pcs
Includes bearings, seals and protective cups 
Year models 2005-2009

Maestro 3000 Plus disc set 24 pcs
Includes bearings, seals and protective cups 
from model year 2010

Maestro 3000 Seed roller set
Complete set of seed rollers , 24 pcs 
If the machine has tramline switches, you need the feed 
rollers JU17974, 4 pcs.

Maestro 4000 pipe set 32 pcs
Includes bearings, seals and protective cups. 
Year models 2005-2009

Maestro 4000 Plus disc set 32   pcs
Includes bearings, seals and protective cups 
from model year 2010

Maestro 4000 Seed roller set
Complete set of seed rollers , 32 pcs 
If the machine has tramline switches, you need the  feed rollers 
JU17974, 4 pcs.

VS30012

VS30014

VS30022

VS40013

VS40015

VS40023



17

Wheel set service kit Maestro 3000 year 2005-2014
Includes 6 plates, 12 reaction bars and 6 pins and mounting acces-
sories

Chain set Maestro Plus year 2010-2014

Wheel set service kit Maestro 4000 year 2005-2014
Includes 8 plates, 16 reaction bars and 8 pins and mounting acces-
sories

VS30023

VS34005

VS40024

Small seed box chains (2 pcs) to be ordered sepa-
rately: 
JU20672 Roller chain 1/2”, 64 links 
JU20673 Roller chain 1/2”, 171 links

Gearbox Seal Kit
Suitable for the Maestro Plus model

VS34004



18

S M T D
36690

36680

36640

36650

V36158

Front coulter S
Suitable for S-model machines. With two pipes

Rear coulter S
Suitable for S-model machines. With two pipes

Front coulter M
Suitable for M-model machines. With two pipes

Rear coulter 
Suitable for M-model machines. With two pipes

Seed disc with bearings
Includes mounting parts.

Fertilizer tube. Can be shortened 
to a suitable length.

18050

Funnel straight 

Funnel right 

Funnel left 

D17111

18095

33265

131324000 cover cupAlso order:

Disc with bearings M
Also suitable for Mastro Plus year 2010-2014
Includes disc, bearings and shaft seal.

V20670

Also order: 21095 cover cup

1 kpl BH1011L11 Seger akselille 30x1,5
1 kpl BH2C21L14 Seger pesään 72x2,5

Bottom flap seed

Bottom flap fertilizer

20793

21249

Fastening parts:
(to be ordered 
separately)



19

V22704 Coulter disc T
Suitable for T-model.
With two pipes.

Also order: 21095 Dust cover

1 piece BH1011L11 locking ring for shaft 30x1.5 
1 piece BH2C21L14 locking ring for housing 72x2.5

Tramline clutch SMD / Maestro
For model year 2013 and newer, with black 
connector.

22964

Rear harrow spike for SMTD machines

If all the tines are replaced at once, 2 pcs. JU33351 
Right harrow tines are also needed for the ringt side

31674

Ground wheel for SMD machines
Year models 2014-2020..

Ground wheel for SMTD machines
Year models from 2021 onwards.

22724

73564

Tension spring S
4,5*200 mm.

33019

M pre-tensioning spring (small spring)
2,5*19,3*108 mm.

32401

M tension spring
7*45*400 mm

31931

S M T D

32485 Dust cover

Fastening parts:
(to be ordered 
separately)



20

S M T D

Isobus magnetic sensor  
Lift sensor for Isobus machines etc. 2022 onwards.

76401

Capacitive sensor
Hopper sensor, SMTD for Isobus machines 2021 
onwards.

72502

Inductive sensor
Speed/rotation sensor for SMDT Isobus models. 
Vm. from 2021 onwards. 
Length 30 mm, thread M12.

72503

Inductive sensor
Speed/rotation sensor 
Length 50mm, thread M12. 

42833

Sensor speed / lift
Measure the speed, the lifting and lowering of the machine. 
With the G-Wizard. 
Isobus  2020 and older machines.

S/Z782-006

Hopper sensor 
For Simulta, Maestro and SMTD machines. 
With the G-Wizard controller. 
Isobus 2020 and older. 

S/F713-009



21

Coulter tube set SMT300
Complete tube set for SMT300 machines, 12+12 
pcs. Also includes disc springs. 
From model year 2017.

Coulter tube set SMT400
Complete tube set for SMT400 machines, 16+16 
pcs. Also includes disc springs. 
From model year 2017.

VS30013

VS40014

S M T D
SPARE PART KITS FOR SMTD

M300 disc set 24 pcs
Includes bearings, seals and protective cups

T300 disc set 24 pcs
Includes bearings, seals and protective cups

S300 disc set 24 pcs
Includes bearings, seals and protective cups

M400 disc set 32   pcs
Includes bearings, seals and protective cups

T400 disc set 32   pcs
Includes bearings, seals and protective cups

S400 disc set 32   pcs
Includes bearings, seals and protective cups

VS30014

VS30016

VS30015

VS40015

VS40017

VS40016

SMTD300 Seed roller set
Complete set of seed rollers, 24 pcs 
If the machine has tramline cluches, you need the feed 
rollers JU17974, 4 pcs.

SMTD400 Seed roller set
Complete set of seed rollers , 32 pcs 
If the machine has tramline clutches, you need the feed 
rollers JU17974, 4 pcs.

VS30022

VS40023



22

S M T D
Chain set SMTD  2021 onwards
Includes chains and tensioning rollers

Chain set SMTD  2015-2020
Includes chains and tensioning rollers

Chain set SMTD for small seed box
Includes chains and ensioning rollers

Gearbox Seal Kit

VS34001

VS34002

VS34003

VS34004



23

CHIPPERS

HJ172G HJ252G HJ262G

HJ172G and HJ172GT
(replaced HJ170 models)
- max. wood diameter 17 cm
- hand-feed model
- feeding angle to the disc 45 degrees
- attachment to the tractor’s lifting 
equipment
- No-Stress revolution monitor as 
standard
- G-model with tractor hydraulics
- GT model with its own hydraulics

HJ320
- crane-feed contracting model
- attachment to tractor lifting devices
- feed angle to disc 60 degrees
- max. wood diameter 32 cm
- No-Stress RPM monitor as standard

HJ500
- crane-feed contracting model
- high-performance chipper
- feed angle to disc 45 degrees
- max. wood diameter 45 cm
- No-Stress RPM monitor as standard

HJ252G, HJ252GT and 
HJ252GTC
(replaced HJ250 models)
- max. wood diameter 25 cm
- models with hand-feed and crane feed
- feeding angle to disc 45 degrees
- attachment to the tractor’s lifting 
equipment
- No-Stress RPM monitor as standard
- stepless adjustment of the disc blades
- G model with tractor hydraulics
- GT model with its own hydraulics
- GTC model for crane feed

HJ262G, HJ262GT and 
HJ262GTC
(replaced the HJ260/HJ261 models)
- max. wood diameter 26 cm
- models with hand-feed and crane feed
- feeding angle to disc 90 degrees
- attachment to the tractor’s lifting equip-
ment
- No-Stress RPM monitor as standard
- wide adjustment range for blades
- G model with tractor hydraulics
- GT model with its own hydraulics
- GTC model for crane feed

HJ4M and HJ4G HJ5M and HJ5G
HJ10M, HJ10G and HJ10GT

Old chipper models, no longer in production. Spare parts available.

Current chipper models:

- GT model with its own hydraulics

HJ320



24

Blade for HJ4 chipper
Need 3 pcs. 150x80x9mm.

D56340142

Blade
Suitable for chippers HJ5, HJ6, HJ170, HJ172, HJ200. 
Need 4 pcs for the chipper. 200x100x10mm.

D56340141

Blade
Fits models HJ10, HJ260, HJ250 and HJ252. 
Blade dimensions 280x100x10mm.  
The holes for the fastening bolts are oval-shaped 
holes. Need 4 pcs/chipper.

D56133172

CHIPPERS

Blade
Suitable for chippers HJ261 and HJ262. 
Need 4 pcs per chipper. Size 350x100x10mm.

42271

Blade
Suitable for chipper HJ320 
Need 8 pcs.  
Blade dimensions 200x100x10mm.

D56340141

Blade
Suitable for chipper HJ500 
Need 4 pcs. 
Blade dimensions 280x130x12mm.

D47009

Bottom counter blade 
Suitable for chipper HJ4

Side counter blade 
Suitable for chipper HJ4

44028

44029

Bottom counter blade 
Suitable for chipper HJ5

Side counter blade 
Suitable for chipper HJ5

43035

43036



25

CHIPPERS

Brush knife set
Suitable for chippers HJ170, HJ172 and HJ5. 
The package contains 4 blades.  
Brush knife set is installed on top of the normal blade.

V434531

brush knife set
Suitable for chippers HJ250, HJ252, HJ10, HJ260. The 
package contains 4 blades. 
The brush knife set is installed on top of the normal 
blade.

V422301

Brush knife set
Suitable for chippers HJ261 and HJ262. 
The package contains 4 blades.  
The brush knife set is installed on top of the normal 
blade.

V422801

Bottom counter blade
Fits models HJ170 and HJ172

Side counter blade
Fits models HJ170 and HJ172

41892

41893

Bottom counter blade 
Suitable for chippers HJ261 and HJ262

Counter blade 
Suitable for chipper HJ260

41723

48002

HJ4 wood chipper brush knife set
The package contains 3 blades. 
The brush knife set is installed on top of the normal 
blade.

V445051



26

Brush knife 
Fits the HJ500 chipper disc. 
Makes smaller wood chips from the branches. 
The brush knife is installed on top of the normal blade. 
The package includes nuts and bolts. Need 2 pcs.

V471100

Brush knife to the chamber 
HJ500 wood chipper chamber mounted side blade. 
Makes smaller wood chips from the branches.  
Need 1 piece for the chipper.

Oil filter, HJ500 vm. 2013 and older
For the GT model chipper

Oil filter HJ500 vm. 2014 and later

PTO shaft
With disc clutch 
For models HJ10, HJ250, HJ252, HJ260, HJ261 and HJ262

PTO shaft
With disc clutch 
For models HJ4, HJ5, HJ170 and HJ172

Rotation sensor
Wizard No-Stress 
Year models 2012-2018, in GTC ones also in newer ones..

Speed sensor
Rotation sensor of an older model chipper, with 4 wires.  
Year model 2011 and older

Rotation sensor (not for  GTC)
Chipper rotation sensor, new model. 
Thread M12, length 50mm. 
For year model 2019 onwards.

Funnel extension 100 cm
For models HJ250, HJ252, HJ262, HJ261, HJ260 a 
Hydraulimoottori 315 HJ10

V472650

D765919

1030759

D52435

52412

S/Z782-113

D40597

42833

41278

CHIPPERS



27

Belt A35
Suitable for chipper HJ10GT

BM0A35000

Belt B38
Suitable for chipper HJ172, HJ252, HJ262

BM0B38

Belt B55 HJ170Mob
Suitable for chipper HJ500
From year 2014 onwards. 
In older models, check the measurement!

Bale belt B41 
Suitable for chipper HJ500. 
Year model 2013 and older.

42385

BMOB41

Belt B66
Suitable for chipper  HJ320

V46377

CHIPPERS

Hydraulic motor OMP 200
For the lower feed roller of the chipper.

Radial bearing
For models HJ5, HJ10, HJ170, HJ172, HJ250 and
HJ252

Axial bearing
For models HJ5, HJ10, HJ170, HJ172, HJ250 and 
HJ252

D65702000

V761302

V761301

Hydraulic motor 315
Hydraulic motor for feed roller 315. 
Suitable for all our small chippers.  
Not suitable for HJ320 and HJ500 models.

D30000311



28

Flow control valve
Fits models HJ4, HJ5, HJ10 and HJ260

Flow control valve
Suitable for newer chippers.

Wizard C+ control panel
Suitable for chippers HJ250, HJ252, HJ260, HJ261, 
HJ262 and HJ500 

Wizard C No-Stress control panel
For models HJ170, HJ250 and HJ260

Wizard C circuit board
For hand-fed chippers

WizardC+ circuit board
Suitable for GTC chipper and HJ500

Wizard C No-Stress wiring harness
For models HJ170, HJ250 and HJ260

41421

41899

45330

48373

48375

P589-034

48374

CHIPPERS
Screw
For model HJ500

A0G15J015

761221 Washer 40/16-10 M16

AGG115014 6-nut M16

Tilaa myös:



29

ACCESSORIES

Simulta 2500 NL/KH
130004 Small seed box
1242010 Start fertilizer kit
146685 Double springs 20 pcs, coulter pressure max. 30 kg
127510 Hopper extensions 2500 NL
VS25001 Adjustable-tip fertilizer coulter series S2500
VS25004 Fertilizer disc coulter series for S2500
VS25007 Seed coulter series S2500

Simulta 3000 T/ST
15350 Hydraulic track marker (Wizard)
153555 Hydraulic track marker (Classic)
144400 Small seed box Simulta 3000 T/ST
144410 Start fertilizer kit Simulta 3000 T/ST
146686 Double springs 24 pcs, coulter pressure max. 30 kg
33254 Packer + drawbar STEADY 10,0/75 -15,5” 
VS30002 Adjustable-tip fertilizer coulter series Simulta 3000
VS30005 Fertilizer disc coulter series for Simulta 3000
VS30008 Seed coulter series Simulta 3000

Simulta 4000 T/ST
15349 Hydraulic track marker 4000 ST (Wizard)
144450 Small seed box 4000 ST
1444600 Start fertilizer kit
146687 Double springs 32 pcs, coulter pressure max. 30 kg
33254 Packer + drawbar STEADY 10,0/75 -15,5” 
VS40003 Adjustable-tip fertilizer coulter series S4000
VS40006 Fertilizer disc coulter series for S4000
VS40009 Seed coulter series S4000



30

Maestro 3000
20674 Small seed box Maestro 3000 Plus (incl. gearbox)
33258 Packer + drawbar HEAVY 10,0/75-15,5” 
VS30010 Coulter tube set Maestro 3000 
VS30011 Coulter tube sets Maestro 3000 

-new model with carbide tip
VS30012 Disc set  Maestro 3M, years 2005-2009 

incl. bearings, seals and protective cups
VS30014 Disc set  Maestro 3M, years 2010-2014 

incl. bearings, seals and protective cups

Maestro 4000
20829 Small seed box Maestro 4000 Plus (incl. gearbox)
33258 Packer + drawbar HEAVY 10,0/75-15,5” 
VS40011 Coulter tube set Maestro 4000 
VS40012 Coulter tube set Maestro 4000  

-new model with carbide tip
VS40013 Disc set Maestro 4M, years 2005-2009 

incl. bearings, seals and protective cups
VS40015 Disc set Maestro 4M, years 2010-2014 

incl. bearings, seals and protective cups

ACCESSORIES



31

SIDE PACKAGES

J90, J120
1785000 Basic sides J90  Suitable also for Velsa 85
1786010 Grain sides J90  Suitable also for Velsa 85
29500 Extra sides J90 Suitable also for Velsa 85
1185000 Basic sides J120  Suitable also for Velsa 120
1186010 Grain sides J120  Suitable also for Velsa 120
29520 Extra sides J120 Suitable also for Velsa 120

J10, J10W
1000500 Basic sides  J10
1000600 Grain sides J10
29500 Extra sides J10
23210 Basic sides  J10W
23220 Grain sides J10W
23230 Extra sides J10W
29677 Grain extension J10D, 7m³
26870 Gritting tailgate J10D

J5
1504000 Basic sides  J5
1511010 Grain sides J5

J13
1300500 Basic sides  J13
1300600 Grain sides J13
29580 Extra sides J13

J16JL
1600500 Basic sides  J16
250050 Extra sides, J16JL, 4 m³

J18JL
26596 Extra sides, J18JLV, 4 m³



CONTACT INFORMATION

Spare part orders are made in writing 
and sent to e-mail: junkkarisales@msk.fi 

Miika Koskela

Spare parts
Tel. +358 10 480 2206
miika.koskela@msk.fi 

Ilari Keskinen

Service and technical suppor
Tel. +358 10 480 2252
ilari.keskinen@msk.fi 

Matilda Sironen

Marketing and after sales manager 
Warranty matters
Tel. +358 10 480 2635
matilda.sironen@msk.fi 

JUNKKARI OY
Pohjanmaanväylä 1661
FI-62375 YLIHÄRMÄ
Tel. +358 10 480 2200


